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Roll No.
e 11 4 aRler, 201920
[7412-C]
CHEMISTRY
YA A
(Hindi & English Versions)
[Total No. of Questions: 18] [Total No. of Printed Pages: 08}
[Tume: 03 Hours] [Maximum Marks: 70]
A - )

(1) it weg aifarf &)

(2) w1 W 4 aw wgee g ) g 3F 20 &

(3) ¥l wHE 5 # 7 qE qRE ge 2 3 T 81 A T 30 qe=" @)
(4) W¥T FHIE 8 ¥ 10 TH TRAF F¥T 3 AF ¥ 8| 7T WA 75 G 8
(5) R¥T BT 11 W 15 T TAF 0¥ 4 3% F7 8] 97 w120 92 &)
(6) 7Y FAE 16 W 18 TF FlF Fe7 5 3T &7 81 T Ay 150 77 &1
(7) w¥ mE 5 o 18 qF aRke ey Ry v &/

Instructions :-
(1) All questions are compulsory.
(2) Q. No. 1 to 4 are objective type questions. Total marks 20,
(3) Q. No. 5 to 7 carries 2 marks. Word limit 30 viords.
(4) Q. No. 8 to 10 carries 3 marks. Word limit 75 words.
(5) Q.No. 11 to 15 carries 4 marks. Word limit 120 words.
(6) Q. No. 16 to 18 carrles 5 marks. Word limit 150 words.
(7) Internal options are given in question No. § to 18.
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w1 w8 e ghT - .
(1) 1 A ETFRIST T A FrEgior TRA B W
(@) 6.012 X 102 A (b) 6.022 X 10% UTHTY]

(c) 6012 X 102 T=AIY (d) 6.022 X 10% 9XATY
(2) B,AlL Mg K @i & fig uftae afieieor &1 W81 4 8-

() B>Al>Mg>K () Al>Mg>B>K
€ Mg>AI>K>B d K>Mg>Al>B
(3) TP mhE T vEIH wRRefrE § 8N @ forg —
(@) AT=0 (b) Ap=0
) q=0 @ w=0
(4) HfeHTH AUBT R 0°C, TR AGHA W ... D AT BT |
(@) 27315 K b) 37315 K
€©) 17315 K (d) 47315 K
(5) T W 5w &R u1g &1 ToriE ~qEew 82
(a) Na b) K
© Rb (d) Cs
Choose the correct option -
(1) 1 mole of hydrogen atom contains ......... number of hydrogen atoms.
(@) 6.012 x 102 atoms (b) 6.022 x 10?2 atoms
(c) 6.012 x 102 atoms (d) 6.022 x 10* atoms

(2) Considering the elements B, Al, Mg and K, the correct order of their
metallic character is -

(@ B>AI>Mg>K (b) Al>Mg>B>K
(c) Mg>AlI>K>B (d K>Mg>Al>B
(3) For a process to occur under adiabatic condition, correct condition is-
(a) AT=0 (b) Ap=0
) q=0 (d w=0
(4) On the celsius scale 0°C is equal to absolute scale -
(@) 273.15K (b) 373.15K
(c) 173.15K (d) 473.15K
(5) Which of the alkali metal is having least melting point?
(a) Na (b) K
() Rb (d) Cs
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R Il o gfd S @ fider grax -
(1) ) Frdfye difs & N G s B UgdM ... T ERT &7 € |
(sgar fafer /o= aieron)
(2) s, TR T ST aVr 5 B (et / WETH)
(3) 2005 H oo, ARAD B E (&1/3R)
(@) R ded @ eI B BRI e 2
(R &1 figia /gvs a1 )

(5) o AR & fU AH BT ®, wiEl kA @
SR FoT Sefld gl B | (D / D)
Fill in the blanks by choosing right option -
(1) The method used for the test of N and S in an organic compound is
...................................... (Dumas method / Lassaigne’s Test)
() e alkali metal gives hydrated salts. (Lithium / Sodium)
(3) 2.005has ................ significant figure. (two / four)
(4) Reason for the failure of the Bohr’s model is ............cooviiniiinn
(Uncertainty principle / Hund’s Rule)

() I\ 3 (8 13 for the exothermic reaction which evolves heat
during the reaction. (negative / positive)
LA ISICE IS
(1) @)
(1) goiggi= ™ I HTE9 BT AIRE
2) WP wE IR AT MY &
(3) G T34 &R
(4) A BT eI e e &1 gABT
(5) BIgga a4 aqggq AtRfhar
Match the pairs -
(A) (B)
(1) Electron pair donor Allotrope of carbon - _
(2) Inductive effect Intermolecular force of attraction
(3) Fullerene Lewis base
(4) Addition of electron Polarisation of sigma bond

(5) Hydrogen Bonding Reduction Reactiog,
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oF UE /qF H IR QI —

(1) i afeds f5) wga €2

(2) TgErd &1 faH ferfau |

(3) =g qut @ar 87

(4) CH,— (fH—CH3 &1 IUPAC A/ fafaq|

OH

(5) fuferp @ 87
Answer in one word / sentence -
(1) Define Limiting agent.
(2) Write Gay-Lussac’s law,
(3) What is Acid rain?
(4) Write the IUPAC name of -

CH;— CH—CH,,

OH
(5) What are Silicones?

Rer argura &1 fFaw faRag |

Write Law of Definite Proportion.
a1/ OR

FATATE G SR AURH § TR T BT |

Write differences between empirical formula and molecular formula.

Hzoﬁmﬂzozﬁﬂmaﬁaﬁgama?rﬁﬂm

Compare the structure of H20 and H20a.
3erar/OR

10 ATTAT H20, Rierad &) amed aRfed i |
Calculate the strength of 10 volume solution of hydrogen peroxide.
A R @ fEed @7 FRvT farag |
Give reason for depletion of Ozone layer.
grerar / OR :

gapTel AARITE §H $iEY @ A & SR 8 arel aififrar fRav |

Write down the reactions involved during the formation of photochemical

smog.
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sp® HHXUT BT TSTER0T SHY FANSY |
Explain sp* hybridization with one suitable example.

Jerar/ OR
H: & fo0 anfdas ®ers ame e gy |
Draw molecular orbital diagram for Ha.
q19c T e 1 M foraey aredt ta wlieve wnfia BT )
Write Boyle’s law and Charles’ law. Establish Ideal Gas equation.

: IFEr/OR

@ TER ¥ PR @ G0 W gRso 19 a8 o 2 9 79 B 02 IR
W AR e e o R, A qew ge wwar ¥ Ak 1 AR T W A
227 L 300 O_a R, o e amaae aa R Y Gl ol 6l 87
A balloon is filled with hydrogen at room temperature. It will burst if pressure
exceeds 0.2 bar. If at 1 bar pressure the gas occupies 2.27 L volume, upto
what volume can the balloon be expanded?
ﬁﬂ%ﬁﬂﬁ%ﬂaﬁﬁmmwmqmmﬁgﬂmﬁmﬂ
() 3ma=T g
(b) difraTsS @ GRHAT
Compare the alkali metals and alkaline earth metals with respect to —
(a) - Ionisation enthalpy http://www.mpboardonline.com
(b) Basicity of oxides

3/ OR
it § S < -
(1) KO; 3geara a1 g 87
() wfaH FERES W IR TXD ST TERITIRS [P0 FHR TEH?
(1) Why KO; is paramagnetic?
(2) Starting with sodium chloride how would you proceed to prepare

sodium hydroxide?

911 fol qeg @ WA W 29 TR €, 3R 36 g € —

@) s WSl $ W ARy |

(b) -aE BT FAGCIP A~ AR |

An atom of an element contains 29 electrons and 35 neutrons. Deduce —
(a) the number of protons and

(b) the electronic configuration of the element.
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3erar / OR |
WWMMﬁMﬁ%IWWn,Lmﬁ?WWWI

An electron is in one of the 3d orbitals. Give the possible values of n, I, ml

for the electron.
ot 7t aad % TR P R wR GRafi B 87 5 GRa

& ARAT A9 fha GHR HN?
How do atomic radius vary.in period and in group? How do you explain the
variation? :
3@/ OR
f block T F41 §7 39 QMY Afvaerr gy |

What are f-block elements? Write general characteristics of f-block
elements.

P Y e @ fg Cp ©d Cv ¥ we i AR |

Establish the relationship between Cp and Cv for an Ideal Gas.
IJU4ar/OR

garsy o fAfeeT 7 4 foes gt aalt /e & —

(1) T% %9 $T 3 3@l ¥ gRadd 8 2 | |

(2) TP fbeeelig 3 1 a9 0K | 115K % 91T el 2 |

(3) 2NaHCOs(s) — Na2COs(s) + COz(g) + H20(g)

4) Hax(g)— 2H(g)

Predict in which of the following entropy increases / decreases -

(1) A liquid crystallizes into a solid.
(2) Temperature of a crystalline solid is raised from 0 K to 115K.

(3) 2NaHCOj;(s) — Na2COs(s) + CO2(g) + H20(g)

(4) Ha(g) - 2H(g)

tfifes Tfre @1 pK. T 3MITW ETSSIaNES &1 pKy BAT: 4.76 iR

475 €| 3mifam wiice faeds & pH @ AT SIS |

The pK. of acetic acid and pKs of ammonium hydroxide are 4.76 and 4.75

respectively. Calculate the pH value of ammonium acetate solution. |
Jar/OR

Frferaa @) g anll e R ¥ FHipa ST AR Ta5T 5 A T

IER T NI 87

@ HO- () F ) H* (d) BCls

Classify the following species into Lewis acids and Lewis bases and show

how these act as such -
(a) HO- (by F- (¢ H* (d) BCl
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Bas  wiah anwee @AWY i aifdo e adigy )

V.16

Draw a labeled diagram of fractional distillation method.

3ya]/ OR
TELIAT HUpTt A e AR A 03 g P e 300K am aen
TS mm QR W 50 m) seeYary A &) e A agevaa @ uftea A
T ARG | (300K iy uv St aena = 18 mm)
In Dumas® method for estimation of nitrogen, (.3g of an organic compound
gave 50 ml of nitrogen collected at 300K temperature and 715 mm pressure.
(‘ulc_ululc the percentage composition of nitrogen in the compound. (Aqueous
tension at 300K = 15mm),
fgn wmafys aa &1 avfa fr gl w DR -
(1) ¥ & amifva R

() g w9 e
(3) oEv /g @ dH
@) ¥a |
Describe the electrochemical cell on the following points -
(1) Cell diagram (2) Half cell reaction
(3) Function of salt bridge  (4) Cell equation
Jyar/ OR
(1) Prafafa § sifexiiase wen g S -
(a) H2S:07 A S (h) K:MnOs § Mn

(¢) NaH:POs # P
(2) f9 O 7 affrm ¥ wgwtig @ e dfede © R R

farera ey -
(a) HaS(g) + Cla(g) = 2HCI(g) + 5(s)
(b) 3Fei0u(s) + BAI(s) — 9Fe(s) + 4Al:03(s?
(1) Determine the oxidation number of the following -
(@) S inHiS:0 (b) Mn in K2MnO4

(c) P inNaH;PO4 o
(2) In the reaction given below, identify the

and reduction -
(a) HaS(g) +Ch(g) = 2HC)(g) + S(8)

(b) 3Fei04(s) + BAI(s) = 9Fe(s) + 4A10:(s)

species undergoing oxidation

)

2)
(1)
(1)
(1)
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947 Wi ol ey - |
() IRTE T (b) TrEARA @I G

Write short notes on -

(a) Borax Bead (b) Structure of Diborane
a1/ OR

e Hgfera B — |

(1) BF:+LiAlHs - (2) B:He+H:0—>

(3) SiO: + 2NaOH — (4) SiCli+H.0 =

(5) H:BO: S
Balance the equations -
(1) BF:+LiAlH; = (2) B2:He+ H0—
(3) SiO: +2NaOH — (4) SiCli+H;0—-
(5) H:BOs >
918 CsHio @ VT TeaHl & A= wRoeiore waqafadl @ svaer 9 g6
g g v, 7 ey | ()

Write structural formula and IUPAC names of different structural isomers of

alkenes corresponding to CsHio. http://www.mpboardonline.com

441/ OR
= B e N (R aftewer fored) —
(1) R | g () o= ¥ 2-aHmYe
(6) TRRAS ¥ uifdied (@) R e /At

() i | AT

How will you form from following(write only chemical reaction)-

(1) ethanol from acetylene (2) 2-bromopropane from propene
(3) polythene from ethylene (4)  Benzene from sodium benzoate
(5) Cyclohexane from benzene -
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